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Results

General model Gauss2:
f(3) = al*exp(-((x-b1)/c1)42) + aZ*exp(-((x-b2)/c2)* 2)

Coefficients (with 95% confidence bounds):

al = 47.45 (46.94, 47.95)

b1 = 1573 (1517, 1630)

cl = 1707 (1462, 1952)

a2z = 17.36 (11.16, 23.56)

b2 = 203.7 (173.3, 234.1)

c2 = 736.4 (659.4, 813.4)

Goodness of fit:
SSE: 38.38
R-square: 0.9972
Adjusted R-square: 0.9972
RMSE: 0.1532

3. G 2 MSE TR R AL

RIUE TR
ERBESHET, 838 E LT .
SSE:ZH N1 2% ;

R-square: FHICEREL (Wi 2E0);

DFE: 15%2% 3 HIi;

Adjusted R-square: [ f % v ¥ 755

RMSE:R7# (RifE2 );

MSE: #7572,

FIFA PR, A By TR B BRAMU AR B 53 A, IF
H IR E 3 A ) Excel UM, Excel U AT REHE 5 S2 BRI
ﬁlﬁ;&%féfﬁﬁ L, & BB G I BRAERA T LABT Sy i BUA AR
JEUED

BTA Pt — 2B B IBRIRY | 38 3 BBy P BB I 2 ATk
@TPH&’%V\]W%“*%F”@TEE}F%: BB ERE, W2
BARREEAE, H-TAR 1 IR P ih vk . SCH M.

S E 30wk
LI FEE) (BN HE, ZREEFFNMT L E
WA, H B B #:2009.08;
I FHEETT LG 00 ) KRB HE, PRI H R
A, 20054 6 A H K
BIFEmMH, Zh, E= 0007 % i A 7 IMD.
R F4).2011
(AEeRETRTFERCEENRE2NAFEDLL L
HFHHEITKA¥, 2016.
[5]#0 5F 15,2 A4 35T Matlab #9302 LB ML AL 3R 2
R AE,2004.
(617 8k, fh e e fh ik 4 0 JH = 2 30 b 7 R 1 3 ok AR
A Y & kOB B UM AL 45 4 % 45.2018.01
(7108 st 30 [ 47 M 2 A8 38 B F 2 R 5 3ok e RO RLLD ).
ﬁﬁ/lfilj(% 2017.
(8130 e . 2 1R . I 47 A SE By 0 JF RO B 42 % [0). W B M
WF = %-.2007.
EE BN B, TTRHER, BXREEZER, &F
FiE, ARAE: HENRZERAREL,
Mg, TTREER, #FEENSHTERESD, FRFE:
N R#ZE,
RBEE : T TR F R R K F 4 S1E el il 2R3t XI—E)

FIETE “BRIELERARE—= EAGPRIAEHER
it (WB%S: 201911430070 ),





